= =R
ma —mb + mc & A5E35

rek

AL

® m(a+b+c) @ m(a-b-c) @m(a—b—i—c)

@ ma(1-b+c) ® m(a+b-c)

ma—mb+mc=m(a—b+c)




A& o]-8ote] 137 -

® a®+ 2ab+ b? = (a + b)?
@ a*-2ab+ b* = (a-b)?
@)a? - 1* = (a+b)(a-b)

=13+ 12 & AA5t9 ok

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd =

(ax+b)(cx+d)

o] m,

2
132 -122 = (13 + 12)(13 -12)=134+12=125

weta ol 8 H FAL o

- b? = (a+b)(a-b)oITt.




150% - 149? = 150 + 149 & A@sh= ol Bak e 24
T2H?

@® a® + 2ab + b* = (a + b)?
@ a?-2ab+b* = (a—b)?
@)a? - 12 = (a+b)(a-b)

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

1502 — 1492 = (150 + 149)(150 — 149) = 150 + 149
m2tA] o] 881 FAL2 a2 -b? = (a+b)(a-b)




4.

a-b=1,a>-p*=4<L " a+b2 FE?

® 1 @ 2 @3 @

a’>-b>=(a+b)la-b)=(a+b)x1=4
La+b=4




5. (x+4)2-3(x+4) & A5EaHstH?

O (x+4)(x-1) @ (x-4)(x+1) ® (x=7)(x+4)
@+9x+1) O x-TE+1)

(x+4)2-3(x+4) = (x+4)(x+4-3)
— (x4 4)(x+ 1)




o] L& A

(x+2) (x+4)(x+6) +16 & J5Ealst= Bgolch. ()l &

x(x+2)(x+4)(x+6)+ 16
=x(D) x (x+2)(@) + 16

= (x% 4 6x)(®) + 16

(@) =A 2 std

A2+ 8A+16=(A+4)?=(®)

D x+5 @ x+3
(@)x2+6x ® x*+6x+1

® x2+4x+38

B

@D x+6
@ x+4
@ x*+6x+8
®x+6x+4




7. Oa deEe] el ol 8d T4 B AL=2H? (Ha>0,b>0)

WAyl dy -1 = - (D2 -y +1)=x - (2y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@)a? - 2ab + b* = (a - b)?
@)a?-b? = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

~&B ~

X% —4y? +4y-1

=x>-(H?-4y+1)

=x2-(2y-1)%2 .- [a®>-2ab+b* = (a—-b)?]
=(x+2y-1)(x-2y+1) - [@®*-b*=(a+b)(a-b) ]




® x*+1

@ x+1

@ x-1

(@)x2+x—1

@ x2-1




oJZFA] x* + Ax+B & 5 &
Z5 Hof (x+4) (x+3) ©] =
(x+1) (x+7) °] Het. v=

A7

@G+ @ G+ E+E) O (x-2)(x-6)
@ (x-1)(x-6) ® (x+3)(x+4)

FA0lE x* + Tx + 12 M BT 12 & FA B,
Aol x4+ 8x+ 7 oA x & Al 8 & A Hylot
THEhA 0170 o] A4 2 X7 + 8x + 12 = (x+ 2)(x + 6)




10.

OE‘ off, abc —4 %I%?

® 5 @ 12 ®)-36 @ 36 ® -18

B ~
A AolE 2x% — 14x — 36 A 353 -36 = A BY L,
SdolE 2x% - 6x + 4 oA x O] A5 -6 = A HSlh
whbA] 2x2 — 6x — 36 = 2(x — 6)(x + 3)

La=2,b=6, c=-3
..abc = -36




11. o2 F (x+5)2 - 2(x+5) - 15 2] 52l AL9

@x+8 @ x-5 @ x-1 @ x-7 ® x+14

B

x+5 =12 23IH
(x+5)2-2(x+5)-15=r2-2t-15
= (1-5)(t+3)
= x(x + 8)
m2bA] 1944= x, x + 8°]Th




12, (x+y)(x+y+6)+9 5 A o]-85to] ARafsin?

@(x+y+3)2 @ (x+y-3)?
® (x-y-3)2 @ (x+y+3)(x+y-3)

® (x+y+3)(x-y-3)

~&B

x—I—y—AEX]QfO}tﬂ

(F4) = A(A+6)+
—A2+6A+9—(A+3)2
= (x+y+3)?




13. the® v +y B A & (@] AfRashe wgolth, mEshe
A4 a, b ol Bkl a—b O L2 (Fa>b)

(5x+y)(5x+y—-3)-18
—AA-3)-18
=A%2-3A-18= (5bx+y+a)(5bx+y+b)

® 4 @ 6 ® 7 @s @)

B

Sx+y=A & xgsH
(5x 4+ y)(5x +y—-3) - 18

=AA-3)-18
= A2-3A-18
= (A+3)(A-6)

=(Bx+y+3)(5bx+y-—06)
w2t a =3, b=-6 9|22 a—- b =9 oJT}.




14, (2x41)* = (x-2)* = (Bx+a)(x+b) L W, a+3b ©] 2k 75HA?

®45 @6 ® 7 @)s ® 9

B

(2x+1)2 = (x-2)?
=(2x+14+x-2)2x+1-x+2)
— Br-1)(x+3)

a=-1,b=3
SLa+3bh=-149=8




15. (a+b+2)? - (—a+b-2)? & Q5B

® 2(a+b+2) @ 4(a-b-2) ® 4a(b+1)
@ da(b+2) @) p(a+2)

B

(@a+b+2)?%-(-a+b-2)>2
={(a+b+2)+(-a+b-2)}
{la+b+2)-(-a+b-2)}
= 2h(2a + 4)

=4b(a+2)




O (x+3y-1)(x=3y+1) @ (x+3y+1)(x-3y-1)
(@)(x—l—3y—1)(x—3y—1) @ (x+3y-1)(x+3y-1)
® (x+3y+1)(x-3y-1)

(&4 = {(x-1)+3y} {(x-1) -3y}
=(x+3y-1)(x—-3y-1)




17. x?y—y—2+42x% o] 147} ofd Z27

® x-1 @ x+1
@y-2 © y+2

~&B

(FA) =xy+2x%2-y-2
=x*(y+2)-(r+2)
2

-1y +2)
=@+ )x-1r+2)




18. T % o —1 9] 57} obdl 2127

D x-1 @ x*-1 @ x*-1

@xG—l ® x¥-1

B-1=0x -1 +1)
==+ 1) +1)
=(x-1)x+D2+1)(*+1)




19, x* - 52 +49] QI57} opd A2?

@ x-1 @ x+2 ® x+1 @ x-2 (@)x—4




20. oo gx82 gsz—g—ﬂwa—t—Mom. o] u, o]

2?7 (A" 270)

@)ma -+ mb = m(a+ b)

@ a*+ 2ab + b* = (a + b)?

® a*-2ab+b* = (a-b)?
@)a?-1? = (a+ b)(a-b)

® x*+ (a+b)x+ab= (x+a)(x+b)

=

A

o

Lt

=
T

B

§><82—§><22
5 5

3
:3><(82—22) — ax+ay=a(x+y)
2
5

X(84+2)(8-2) > a?—b* =

(a+b)(a-D)




2 _ .2
21. xy 7t o3 2L ), % o] gre?

®v: @V 022 @3vi Qv

B

_ 1 Bel
x_x/i—l_<xf2—1)(«/§+1)_\/§+1
1 V2-1

— V-1

TTNE1 T (V) (VR 1)
kA x+y=2V2,x-y=2,xy=10°]E%

2 -y (x+y)(E-y) —2V2x2=42
P xy




1 1
22 x= VS U, 22 -2 O g T

O @ -8V3 ® 3V3
@ -5v3 ® 53

R LS LR (RN e

x+y=V8=2v2,x-y= 6
-y = (xty)(x-y) =2V2x V6=2V12=4V3




23. x=V3-6, y=V3+2 L x>+ 2xy-3y> 2] 22

@ -12 @ -24 @ -32
@ -24v3 @—32«/3

A)= (x = y)(x + 3y)

y=-8, x+3y=4V30|2&
(-8) x 4V3 = -32V3

(=
e




24. (x+y+4)(x—y+4)-16x S ¥2A QARG AL

D (x—y+4) @ (x+y-4)?
® (x-y-2)(x+y+8) @ (x+y-1)(x-y-1)

® (~x-y+4)(x-y+4)

~&B

x+4 =12t
(t+y)(t—y) - 16x
=1 -y - 16x
= (x+4)?-16x -y
= (x? +8x+16—16x)
= (x? - 8x + 16) -
— (- 47 -7
=(x+y- 4)(x y—4)




vl

25. e EAE2A

5%
rlo

29

O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ P(x+1)-4(x+1) = (x+1)(x+2)(x-2)
@ab+1)-(b+1) = 1-a)1+b)

‘ ®ab+1)-(b+1)=(a-1)(b+1)




